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Ilocozeme

| Bepnua omezoBop

IMpousseyenuero — 1,2 . 0,8 e paBuo Ha:

A)-0,86 b)-8.,6 B) 0,96
L :

ITpousseenueTo T ( 6) € paBHO Ha:

19 o 7
A) 5 b) 5 B) 5
IIpon3ssejenuero —6%.(—2).(—0,6) € PaBHO Ha:
A)-36 B) 3,6 B)— 7%
Yactaor —;76— : 9 e paBHO Ha:

_4 2 54
) 7 k! 21 5 7
Yacrtaoro — 6% :(—3,5) e paBHO Ha:

A _

A)2 b) 3 B)-2
Am-—l% .X=-=5,T0x¢€:
A)3 E)-13 B) %
Ako x : (—0,16)= 0,04, To x ¢:
A)—4 b) —0,0064 B)— 0,064
Axo — 15% :x=—2?3, TO X €:

=3 19 1
A) 0 B) 3 B)3 3

Croiinoctra Ha u3pa3a — 10,42 . 74-2,6 . 1042 e:
A) 104,2 b)—10,42 B) 1042

CroitHOCTTa Ha M3pasa z;a ppua=-2;b=—13nc=
=

A)l b1 B) 0,3
140

I)

e |Ln

I) 64

1
I‘)3—5‘

I')—-104,2

—T7e:
r-03



